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OVERVIEW

3"2wN rules that o°w1 *v°3 are w5 only in a place where X2 do not sign on
mAvw, thereby assuring us that the "2y will not be used for 777%07 7y, but
rather there will be proper X7 770n *7w. Our Moo discusses the
consequence of this ruling and resolves an apparent contradiction.

— 155199 19501 1Y INT TMYIN 399 9307 KON YYN
It seems from this Xn>>72 that 2"2w" agrees with X''% who maintains that
SNN2 77%0nR 7.

mooin asks:
— (3,007 97 8M3 N33) VIV V) P992T ©99N 13229 290 VP

And 272K 2"";7 asked, that in wws v P95 -
— 55799 NIPNIN YT 1Y KIPADT YIWN HPINY 0WA 1Y XaH 23)

Regarding the case of one who comes with a claim of a 9w and a claim of

a P, it seems that 3"2w7 maintains that Sn9> a»snm S5 how can we
reconcile that X1 with our X713 which indicates that he maintains D22 737°0n >7v7?!

N1D0IN answers:
— MIVY INYA XD 9TYON 299 920 PV XPITT PN 13529 909IN)

And the ' answered that only by usa does 1"2w1 agree with R'9 that

’n72 2"y but not by other nyaww; there he maintains *n7> 1"y -
$(2,9 97 1mp5%) NINA 9997 NN 73N

Like those 2°58712K in the last P92 of P

SUMMARY
3"2wA (as well as many 2°X77X) maintain that °n7> »"v by v°3; however

" 32w ruled that 2°w3 > which were signed by 2"2y are 7w3 only in a place where Jews do not sign. The
only 0°7w> o7y for the i are the 717°0n >7v. See (however) ‘Thinking it over’ # 2.

? The case there is where one (a "¥7wn) contested the present ownership of the one living in a house (the
P1mn). The pimn had a qvw (without 2>7v) that the claimant sold him the house and in addition the prma had
o7y that he lived there for three years. [*27 maintains that we verify the 70w through 77°0n »7¥ and that is
sufficient.] 3"2w" maintains that we need to verify the npin; however the 70w is insufficient even if there are
77°0m 7Y since (as the 87ma explains there) 3"2w" maintains that *n73 72°nn *7v, so the Tww without 7N 7Y
is invalid.

? The X723 mentions there many 2°X X who rule PR*3a X"93 79%77, but not by MLw “Xw.
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NMVY IRW2 there it 1S >N 72°N0 7.

THINKING IT OVER
When 3"2w" states (in the Xn>»12) that 'Pw> 9% AX'; was he referring to v
o'w1 exclusively or also to Mww xw?*

2. modIn assumes that 3"2w1 maintains *n73 n"v.” However it is possible to
say that 3"2w" maintains °n15 1"y and when he writes D1pn2 X9X 1WI1T R
1M PRI PR he means that in such a place we can use this v if we will
allow the 9% " to sign now (after the 0™>oy signed); however in a place
where X2 do sign then it is 7109 because we are concerned that they will
think the signatures are from 2X7¢° and they will not add any more mn nn
from x> *79.°

*See n"nx # 115-116.
3 See footnote # 1.
® See apy> nxaN.

2

TosfosInEnglish.com



